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(_Fundqmentals of Financial Management)
| Full Marks : 70 |
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. . Choose the right answers : . 1x10=10
uw ©eIo! AR Bfeted 2

() Which of the following is a part of
financial decision making ?

eare @ el Frae MR o 2
(a) Financing decision
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(b) Dividend decision
sTone g

(c) Investment decision
fafcst Frare

(d) All of the above
QY FBCAIRE

(i) Which of the following represents the
capital structure of a company ?

Rae (@ROIR @r=iNt @R A S
sfefRigy 332

(a) Debt and equities
A S FJAIRH

(b) Equities and preference share
capital

AN S SATEHRN S 4
(c) All assets

AR TG
(d) All liabilities

APLANRE vl

4 (Sem-5/CBCS) COM HC 2 (FoFM)/G 2



BIKALI COLLEGE LIBRARY

(i) Which of the following is also known as
long-term investment decision ?

e @R Mg RN Fras Reers
el A 2

(a) Dividend decision
Tepie Frars
(b) Working capital
IAFR T
(c) Capital budgeting decision
JEAL] ST TS
(d) All of the above
SAIY ABCIRE

(iv) Current assets are twice the current
liabilities. If the working capital is
Rs.2,00,000, current assets would be :

plore =il 5lere (e e | af SR o1
2.00,000 53 27, 5feTs =vifeq #ff<wd 23 ¢

(a) Rs.2,00,000
(b) Rs.4,00,000
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(c) Rs.3,00,000
(d) Rs.1,00,000

(v) The capitalisation of profit is termed as :

MR [HALIFIORE GIAE (IR T 3
(a) Stock dividend
B g
(b) Cash dividend
RREGISIG
(c) Property dividend
TG oI
(d) Bond dividend
TS STojIR¥

(vi) Investment decisions are outside the
purview of financial decisions.

RfFtme Prarenr ey Pareza «iikfag
RIESICY

(@) True |

. 403

(b) False
forgy
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(vii) Increased use of debt increases the
financial risk of equity shareholders.

Y IR I T SHyRe] K@y
R 3 A |

(@) True
1)

(b) False
oy

(viii) Capital budgeting decisions are
generally of irreversible nature.

AL TS RIS AR FARIER T AFoA |
(a) True

51
(b) False

=

(ix) The rate of return on investment falls
with the shortage of working capital.

FILTIR T SSIRA &1t #7eat [RiReaee sres
TR I A |

(a) True
o1
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(b) False
i

(x) Profitability index is also known as

benefit/cost ratio.
ATTAF FHIIED IS/ IT6 Go1S I8 (TN
11
(a) True
351
(b) False

f

2. Answer the following questions in about 50

words each : 2x5=10

fRIE 2eTrRR AR Bel 50 B JiF =S fooge
ferat ¢
(a) What is financial management ?

&S ~ifIoEw I QIE e
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(b) What is leverage ?
frreiee w1 @i 2

(c) What are the various methods of capital

budgeting decisions ?

T ACSS BT RioR oo f e
(d) What is dividend ?

STOJI PP (T 2
(e) What is permanent working capital ?

T SO e I QA 2

3. Answer the following questions within 150-

200 words each : (any four) S5x4=20

ACEIS erPie AfSR Tl 150-200 b *9< fowte
ot ¢ (fazetent s1f<61)

(a) State the nature of financial

management.

& ARDIEmIT &S 31 31|
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(b) Explain the significance of cost of capital.
TR I Sl =T I |

(c) Explain the significance and limitations
of financial leverage.

ReM fFreitass ol oi% RuRae Iz AT
Sl
(d) Explain the capital budgeting process.

ELA] AACHO AfEA YT [ |

(e) Distinguish between gross working
capital and net working capital.

TS TAT L T 87 PRSI ToALR Tere
AL WS |

(f/ Explain the various forms of dividend.

ffen siwiet sToneir R i <)

4. Answer the following questions within S00-
‘600 words each :

eI Ty ofSihi B8] 500-600 1 I 2%
fooss fomall ¢

(a) Discuss the scope and objectives of

financial management. 10
€M ~IRBIETR #1918 S STHERTR SCEAGA!
9 |
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Or / g4t

Describe the determinants of capital

structure of a firm.
G5! AfSHR ToeA sTrofar Meffaarz 3t 341 |

(b) State the various factors determining the

dividend policy of a company. 10
@A GBIF N Regaq Fife FareaiRt
I R 3091 74 |

Or / ql

State the various factors determining the

working capital requirements of a firm.

<51 AFEHFR PG| T4 AR IR
e 3 =401

(c) Discuss the traditional methods of
capital budgeting decision. 10
TETLA AT AR SIT=iR1S 2@ oz
DN FA|
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Or / 9Ydl

ABC company is considering to purchase
one of the following two machines, the

details of which are given below :

ABC @it Fesie ¥l (oA’ ies #idt
1 (ot [ReiR s =1¢e, (ifoet oI e wete

EIEGE

Year Cash inflow (Rs.) Discount
Machine X Machine Y factor
@10%
1st 3,00,000 1,00,000 0.909
2nd 4,00,000 3,00,000 0.826
3rd 5,00,000 4,00,000 0.751
4th 3,00,000 6,00,000 0.683
Sth 2,00,000 4,00,000 0.621

Cost of Machine X and Machine Y is
Rs.10,00,000 each.

I X S (WibA Y qEAivis AfStoiR 60 e
10,00,000 Bt |
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Calculate Net Present Value and
Profitability Index.

AFS JEAN 5T S FOTHFO! IHIS et

9|
7+3=10
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